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Model answer:
One cause of poverty during Elizabethan times was population growth. I know that the population increased from 2.7 million to 4.1 million during Elizabeth’s reign. This caused poverty because there were more people who needed food, and not enough food was being produced.
Another cause of poverty was sheep farming. This was when farmers stopped farming crops, and instead chose to farm sheep as they realised they could sell the wool and make more money than they could from crops. This caused poverty as there was less food being produced.
Population growth and sheep farming are connected because they both cause a lack of food production, which contributed to the rise in poverty during Elizabethan times. With the higher demand caused by the increased population and the lower availability of food due to increased sheep farming, this caused a rise in prices, contributing to poverty.
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QUESTION 4
Explain the connections between TWO of the following that are to do with the Puritan threat.  [10]
« Puritan challenge to the Settiement
« Opposition in Parliament
«  Prophesying
« The Three Articles
5
Issues chosen:
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Question: Explain the connections between TWO of the following
that are to do with the Puritan threat. [10]

Fully explains the relevant
connections between the
chosen features, set within
the correct historical
context.

Explains the connections.
between the chosen
features, set within the
correct historical context.

Demonstrates Begins to explain the
detailed knowledge connections between the
and understanding chosen features.

of the key features

in the question.

Demonstrates some A basic, unsupported
knowledge and explanation of connections
understanding of between the chosen

the key features in features.

the que:

Use 0 for incorrect or irrelevant answers.

Indicative content

This content is not prescriptive and candidates are not expected to refer to all the material
identified below. Some of the issues to consider are:

Al the historical features mentioned in the question are inter-related; connections identified may
include:

« the Puritan challenge to the Setlement emerged soon after 1559 and was aimed at
removing Catholic elements from the Religious Setiement; it is connected to opposition in
Parliament as since the early Puritan attempts to change the Seftlement failed, such as the
Vestments Controversy, they were forced to look to Pariament s a means of achieving their
aims;

. they are connected as Puritan MPs sought to use Parfiament to introuce bils to reform the
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